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—3x*—=x2-9=90

5x+9=0

32—-3x2=0

NumHeitHere ypaeHeHna

KeappatHere ypaeHeHus

BukeappatHeIe ypaeHeHus

AOpo6Ho-paunoHansHeIe ypaeHeHns

x*+9x*+3=0

7x*—4x+5=0

12—-3x=0
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—x?+5x+24=0 U x(x—3)#0
x2_5x_24=0 x¢0, x—3+%#0
p=-54q=-24 x#3
{x1+x2=5,

Xy =8,x, =-3
X1 *x X, = —24 ! :
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2)-3#0, -3%#3

Omeen X1 = 8, X, = —3



Pewume ypasHeHue u cpasHume
omeem

Omeem: x, = —6, Xy = 2




Pewume ypaeHeHUs1 u 3a4epKHuUme dea
HeeepHbIx omeema

3x% + 6x 2 + 1 =
gl Xt Z X
BapuaHTbl OTBETOB: BapuaHTbl OTBETOB:
1)x, = 0; x, = —2 Loty 7= =) %= 2
Ay = 2, =10 2, ot S
3)x, =3,%, = 6 B, g,
lpasunbHbIU lpasunbHbIU
omeem: x, = -2, x, =0 omeem.y, = —1, B = 2
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JomawHee 3a0aHue:

6 6an108: Ned71 (1;2)
5-4 6anna: Ned74 (4;6)
3 u MeHee 6as1108: Ned70 (2;4)




